
STYKLISTE
Side 1

MODEL 9227CB

Pos. Art.nr. Betegnelse Stk. Note

001 632679-5 PLADE KOMPLET   1
002 634293-3 FELT (9227CB)   1
003 416253-5 FELTAFDÆKNING   1
004 211031-6 KUGLELEJE###(210029-0)   1
005 681644-1 ISOLERINGSSKIVE   1
006 516308-7 ANKER   1

INC. 4,5,7
007 240002-6 FAN 70   1
008 285687-1 LEJEAFDÆKNING 48   1
009 211106-1 KUGLELEJE 6201LLB   1
010 961052-5 LÅSERING S-12   1
011 266012-5 BLIKSKRUE 5X35###(266373-3)   4
012 266171-5 SKRUE M8x25 (9227CB)   2
013 416348-4 BØJLEGREB (9227CB)   1
014 415491-6 KUNSTSTOFKAPPE   1
015 233072-2 TRYKFJEDER 8   1
016 911221-8 SKRUE M5X16   1
017 911211-1 SKRUE M5X12   1
018 159951-5 GEARHUS KOMPLET 9227CB   1
019 256504-2 STIFT 9   1
020 816330-7 SKILT   1
021 266038-7 SKRUE 5x70 (HP2030)   2
022 688110-9 MAGNETRING   1
023 961012-7 STOPRING E-6   1
024 255058-6 STIFT 2   1
025 233002-3 TRYKFJEDER 3 T221D   1
026 645200-1 KONDENSATOR###(645118-6)   1
027 182917-0 GREB SÆT   1

INC. 47
028 665890-4 LEDNING H07RN-F###(P-26185)   1
029 682540-6 KNÆKBESKYTTER###(682568-4)   1
030 687052-4 KABELKLEMMEPLADE (4100NB)   1
031 265995-6 BLIKSKRUE 4x18###(266326-2)   2
032 651282-3 AFBRYDER ELEKTR. 9227CB   1
033 631227-7 ELEKTRONIK (9227CB)   1
034 271417-6 GLIDEHJUL 28(9227CB)   1
035 182918-8 HUS KPL (9227CB)   1

INC. 20,39
036 858696-9 TYPESKILT (9227CB)   1
037 191963-2 KULSÆT CB-303   1
038 643750-0 KULDÆKSEL (HR4000C)   2
039 819001-5 MAKITA SKILT   2
040 227512-0 TANDHJUL 52 (9227CB)   1
041 962151-6 LÅSERING R-32   1
042 211106-1 KUGLELEJE 6201LLB   1
043 316896-2 GEARHUSDÆKSEL   1
044 266034-5 SKRUE 4x16   4
045 152551-0 SPINDEL M14X2   1
046 743053-3 VELCROBAGSKIVE 165   1
047 182917-0 GREB SÆT   1

INC. 27
048 265995-6 BLIKSKRUE 4x18###(266326-2)   4
A01 783204-6 6-KANT NØGLE 6 (9227CB)   1
A02 262542-4 CENTRERRØR 18 9227CB   1
A03 192629-7 POLERHÆTTE 185 VELCRO   1
E01 646077-7 DROSSEL   1
E12 417671-0 GEARKAPPE   1



EKSPLOSIONSTEGNING
Side 1

MODEL 9227CB


